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1. According to Haryanvi folklore, Guggapir is 1. ®imE SrEa=as & TIEI e
believed to be the protector of % &7 994 ? |
(A) Human (B) Birds (A) T (B) qafl
(C) Cows (D) Snake (C) T (D) 8949

2. The process by which the sample is

constrained to include elements from each of
the segments is called

2. g UtFEA fas Z2m U= 49 9 d5 F1

s F °0 aga F e amn § S 2

sampling. Tia=Ta FEera B
(A) Simple random (A) J149TT A1 i+
\B) Complex probability (B) et wifran
(C) Systematic (C) T T
(D) Stratified random

3. The Constitution of India provides which
type of citizenship for the whole of India ?
(A) Single citizenship
(B) Dual citizenship
(C) Both single and dual citizenship (C) UFad AW I Jivieray 2
(D) None of the above (D) 39T 0 | F12 35

4. FefafEaiasm-m

4. Which of the following is not a geographical
feature of Haryana ?

‘ BTN 3 U e
&0 TR @ 7
(A) Lower Shivalik Hills (A) Frash F-?FITF(-TEE TETeg
(B) Bagar Tract (B) AT &y
(C) Yamuna Ghaggar Plain (C) AT T & e
) (D) Chambal Valley (D) S A
5. Under Consumer Protection Act, 1986 r

| > ST Hw sifufem, 1086 F st trsa
any person aggrieved by an order made M T R oy s & =
by the State Commission may prefer an A S ) vt  fi A
appeal against such order to the National Aty CIGER S smgq Y 3R U NIGR® gn
Commission within a period of ___ fafea et el |
days from the date of the order (Section 19). Y - (Rhﬂ?i?rn (aTO 19)‘ I |
(A) 90 (B) 30 (A) 90 (B) 10
(C) 120 (D) 15 (C) 120 (D) 15
6. The Notional Price methodrs Includes | 6. Fr9iae e fabv o mine 2
(A) Specific price, First-in first-out, Last-in A) fafne i ;
first-out ( .) f;f%]q'm '{Uﬂ AT A9 -HrET
(B) Simple average price, Weighted = AR T4m -
average price, Periodic Simple (B) AW sygq ey WA i e
average price Al HEP 3aq e '
(C) Base stock method. Highest-in first- (C) YW =i, f&f ~—-_|—;m' ~ '
oul, Moving simple average price ) A o= i, e ~MI -
(D) Standard price, Inflated price, “ JETPHE Mmm i e
Replacement price

(B) W e, afifa e, afeam g
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7. This Haryana based writer was the editor
of Urdu Magazine ‘Bharat Pratap’

(A) Balamukund Gupta

(B) Pratap Narayan Mishra

(C) Mahaveera Prasad Dwivedi
(D) None of the above

8. Under

15/2019 (17)

7 212 =RETON 1 o 38 TAE WId FdTT

q9Tah 41

(A), FTETTFE T
B) WaTd AT

(
(C) WeTdr g fZad
(D) T | A T2 A7

price policy, the firm RS (.. Aifa = 'ﬂ-;__”'“'; FH A SIS
divides its markets into zones and quotes F1 &3t 1 fafaa Fad 2 31 Te=9E e e
uniform prices to all the buyers located in ap 1 fe il @fieem 3 v 9eE e HEE |
the Id&l‘ltlﬁ&d zone. (A) 3T T
(A) Base point .
(B) Uniform delivered (B) U—'F HHIH 3
(C) Zonal (C) &=
(D) Freight absorption (D) TS IO
9. was the last king of Tomara 9.

d\;na_sw v!rha handed over the throne of
Delhi to his son-in-law Prithviraj Chauhan.

e |
A) Vij | -
(A) Vijayapala (B) Mahipala REEEEIG (B) TS
(C) Anangapala (D) Gopala (C), ST ) v
10. Hitesh is 40 years old and Ronnie is | fererer o Falir s
10. T&dw =i 4 ‘ ;
60 years old. How many years ago was the 6099 B Iﬁﬁgﬁ (;EGWQTI TIT-ﬁ Y -y
ratio of their ages 3: 5 7 ; 3 5' . a1 WETT
HAd 3 : 5 <
(A) g years (B) 10 years (A} 5 a-ri
(C) 20 years (D) 37 years (C) 20 7% (B) 109y
(D) 37 99
1. Under the queueing th * it fiyzrs -
behaviour are WY S A W SR <1 = 37, TIEF 1 gen &
Eé) Ealkln_g (B) Reneging (A) FesE (B) .
L) Prnonties (D) All of these (C) Wmuty=amd m
12, Department of Information. P - | kQ) R
anil LIGases. , Public Relations

Haryana hr 12.
magazine named ! bnngs out a

(A) Haryana Vikas
(B) Haryana Darshan

(C) Haryana Samvad (By iz 29T
(D) None of the aboye (C) e qare
- - (D) 39 1 3§ =
best 5”Dﬂ:l?:g 23:::::'{;:1“1 Award for 13 EﬂTTé Tel
er ' T — o ?—m I I: _ ‘
T:)WST M ‘Pagdi The Honou:me . " 3w e 3 fo Frij)r;q TTE 2 37’
o S | s s )
(C) Sumit —— Baljinder Kayr PSS e REESS A b e syhaarsh
a Hooda (D) Sheela Pahal (A) 391 v e

(B) =reifsiar 1

Scanne d with CamScanner



38 HaryanaJobs.in  sasan

14.  As per the Article 60 of Indian Constitution, | 14. ﬂﬁ?ﬂﬂm *F AT 595‘“ AT, WA
the President of India must take oath in the & Tald 1 T2 ufeata ® w99 &
presence of | Afqard @ 7
(A) Vice President of India (A) M & I
(B) Chief Justice of India (B), WITTd #F A AT
(C) Prime Minister of India (C) WA PRIELP]

(D) Speaker of Lok Sabha (D) ATFAT F A4
15. E:::gssm - language is called @ W11 H g R S e A
(A) Gréek (B) French (AL T (B) : i
(C) Latin (D) All of these (C) enfei (D) 3 A
16. Pnngiples governing a Financial Plan | 16. % favig arsn =1 9em a9 fogm
consisting of FAAEE R |
(A) Simplicity (B) Flexibility | (A) T (B) TETAl
(C) Liquidity (D) All of these (C) ATl (Q) 3 &+
17. Maharana Pratap fought against Mughals | 1 el ri'an" F faems "
A ik -
| In the historical battle of ’ Uﬁ?‘[faa;m gy - v
A) Chittorgarh s | R TH
l (A) Chittorgar (B) Haldighatt (A) fa=T=Te (B) Ze2TH
(C) Mewar (D) Lahore (C) HaT= (D) ;TE:,-.F '
18. R-C=N — 5 R - \ -
C' N + 2H, R Cl"li,NH:E | 18. R-C=N 18 <l s RO N H
(A) Ni (B) Pb (A) Ni ‘ . ik
t (C) Cu (D) Zn €} Cu (B) Pb
' 19. If 'white’ lled 1
- w’ Il€ IS callea 'Dlue’, 'blue'is called ‘red' 19. e ‘ggz’' ¥ 1 bo A
‘red IS F:alled yellow', ‘yellow' is called F ,E:?{ m‘fl;t_lm 3 m 1 1 |,
green, green' is called 'black’. 'black’ is pareTh i o W BIW F Frenl
called 'violet', and ‘violet'is called ‘orange’, | e W N ol Euci) Ea e oo am
what would be the colour of human blood ? STl &, 9 qg T 0 ETrn ¢
(A) Green (B) Yellow (A) BT (B) e |
(C) Violet (D) Orange C) T -5
20. Which of the following is one of the | 2 e & 7
5 villages Yudhishtira wanted to borrow | ' i Ef?ﬂ—m 31 5 4
from Duryodhana ? M gffes 2 & S N A TF ¢
(A) Mewat (B) Palwal . (A) nama E q7 ¢
(C) Karnal (D) Sonipat (C) FAT :D; RS E T
21. Problems in measuring divisional 21. f3 .
performance consist of ' TSITen, iq';'”_*’a'{ RO L E I e
(A) Selection of a profit index #1 areft 3 |
(B) Problems in computation of division (A) T &ty I[ETTF—F F e
i ;ontrollabl_e profit (B) s ity 1 = o
) C;O?Iems In identification of qyE "
Ntrollable costs C) fFrrminy s
(D) All of these ( ’W“"W?ﬁmnﬁw
A () 2 ey |
4.
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28.

29. A

quantitative expression of business plans
and policies to be pursued in the future

30.

31.

32.

IS considered as the first 28.

cntical manifesto of Urdu poetry.
(A) Yaadgar-e-Ghalib

(B) Deewan-e-Haali

(C) Hayat-e-Saadi '
(D) Woh Nabiyon Mein Rahmat Laqab

Paanaywala

's the monetary or/and 29.

period of time. '
(A) Budgetary |
(B) Budgetary control

(C) Decision tree

(D) Budget

VWhen a strong magnetic field is applied to a 30.

system whose spectrum is being recorded,
each spectral line gets split up into a number
of separate lines. This phenomenon is

(A) Zeeman effect  (B) Raman effect
(C) Paulis effect (D) Frenkel defect |

Which of the following districts of Haryana 1.

shares its boundary with 2 States 7
(A) Yamunanagar (B) Rewari
(C) Mahendragarh (D) Charkhi Dadri

A B. C, D, E, F and G are siting on a
wall and all of them are facing East Cis
on the immediate right of D B is at the |
extreme end and has E as his neighbor. |
G is between E and F. D is sitting third from
the South end

Name the person who should change place
with C such that he gets the third place from

the North end

(A) E (B) F
(C) G (D) B
23 The binominal distribution also known as 33.
distribution.
(A) Bernoull (B) Blaise Pascal's
(C) Chou's (D) Griffin's

32.

15/2019 (17)

2, g AUFH 1@l -3 @ A
faitsa 21 AT 2, 38 921 &1 el 491 7

(B) THUI Y9TE

(D)e A SIHF2

zfamm F FH-3 o @ @ 2 7= #
T 2 7

(A), FHATAT (B) t@rE
(C) Healle (D) 502G A B

A B.C.D.E,F 3N GUHIERWHI 2 3L T+
1 7@ & fan =1 30 R | C, DF e 2l 31
g fFEmM AT e MM IWF IS H E
S IG EMMFFEA=UR I D =fau g &
A YA WAST B

34 SfFd 31 10 FTATEU S C F /Y 39941 74T
&1 TR @ AT 38 398 IRF dran wE
fret 1o |

(A) E (B F

(C) G (D) B

fgarft & =) faarur o
FE1 ST 2 |

(A ST (B) &AW Tl
(C) 13 (D) fufEa =1

‘____4
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42. The British resident who was responsible 42 E{iﬂ 1791 1 9T 27
 for opening of Sanskrit College at Benaras ﬁﬁﬂ- ﬁg_ﬁam'
in 17917 (A).HHT?FP
(A) Jonathan Duncan B) P
(B) Macaulay C) T ared El__g
(C) Sir Charles Wood ] &
(D) Mr. James Thomson 4::1:{&:" .
43. The standard deviation of the sampling 43. ‘Jarfgﬂﬂq fél'ﬂ";‘| e
distribution is called the error. UA_ ‘-Fgm;lal 8) T
(A) Mean (B) Zero (C) e 0) >
(C) Standard (D) All of these (C) ‘ Waﬁ e |
44. |n 1982 Amrita Pritam was honoured by 44. 19824 AYCl > Forg v 3 qIE
Bharatiya Jnanpith Award for her collection = m;ml | SR iEIERLE
of poems. W(A) il
(A) Rasidi Ticket - i
(B) Pinjar T
(C) Sunehade ((g; gﬂﬁgﬁ 3%
(D) Kagaz Te Kanvas | | | N
A5. The output of the compiler is called 45. 'qqcnga? &+ m E 3| | F2 AE =
| Interpreter (A) ard #ie (BY W
(A) Source Code (B) P A ﬁ gy
(C) Object Code (D) Mix Code (C) 3TeSdd &his (D) FE

46. Responsibility accounting which focuse§ on
responsibility centers 1s an important aid in

the control process.
(A) Audit (B) Management
(C) Financial (D) All of these

law which is concerned with

— e .

Eommunications and automatic control

systems.
(A) Consumer (B) Wage
(C) Cyber (D) Trade

48. \Which of the following decides the eastern

boundary of Haryana by separating it from
Uttar Pradesh 7

(A) Ganga
(C) Ghaggar Hakra

47.

(B) Yamuna
(D) Chandigarh

pncing is the method of setting

the prices in relation to the prices of
competitors

(A) Sealed Bid
(C) Cost-plus

49.

(B) Going rate

(D) Target return
A

46. IGEITAE FEEF Al IAETd F3l W

Fizd &l 2, = ufsFn o
U HEedUl HEEd ¢ |
(A) THETILIET (B) W9
(C) fardi (Q) A |
47. ___ FA Sl HEW 3 mE=eitaa
o wonfera | gafaa 2
(A) I9TEI (B) W=t
(Cy Hrg= (D) =MW

a8. fr=ferfaa v & - swogem @ 2feon

(A) T (B) A
(C) 9" &= (D) =3I
49. WHETIH % qeqi & ama el & futoo £
fafa e fufon weend 2
(A) Hreaa fafamr (B) wafera =
(C) e - (D) & TfAA
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58.

under the Chairmanship of -
on 23 April, 1966 to divide the existing Stat
of Punjab and determine the boundaries of
the new State of Haryana.

(A) Justice J. C. Shah

(B) Justice M. Katju

(C) Justice Deepak Mishra

(D) Justice Ranjan Gogoi

59. The Competition Act, extends
to the whole of India except the State of
Jammu and Kashmir.
(A) 2005
(C) 2003

(B) 2002
(D) 2004

60. World Water Day is held annually on
(A) 22" March
(B) 22" Aprnil
(C) 22" May
(D) None of the above

61. Capital Budgeting refers to
term planning for proposed capital outlays
and their financing.

(A) Short

(B) Medium
(C) Long

(D) All of these

62. Intwo-way classification model, how many
factors are taken into consideration to find
out analysis of vanance ?

(A) Three (B) Four

(C) Two (D) Five

®3. Is the most widely spoken
dialect of Haryanvi.

(A) Khanboli

(B) Bangary

(C) Ahirvat

(D) None of the above

A

The Indian Government set up Commission |

60.

61.

62.

63.

15/2019 (17)

(B) 22 3

(C) 2273 |

(D) 394 5 | FI3 Tal
aﬁmamamﬁﬁgﬁm
R 379 faremmeon 3 foro AT
TS & |

e BIEE .
gAY g 597181 9Tl
(A) GEETe

(B) ImTE

(C) 3eharA

(D) 34 H & #ré ¢
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70.

/ g

j ¢ 2

73.

74. Fatehabad district

795. IS a

HaryanaJobs.in

70. %% W2l 1 miefid e @t 0 A
e A o (10 qTETTSe 1 Hact

e Is just PowerPoint’'s term
INng many photographs into a
presentation all at once. —

(A) Photoshop (B) Photo frame
(C) Photo album (D) Photo content |

D

Kalka-Shimla railway tracks, one of the
world heritage sites was built in the year
(A) 1989 (B) 1906

(C) 1898 (D) 1888

A istheamountone paysfora | 72.
good or a service or an idea.

(A) Product (B) Policy
(C) Profit (D) Price

Which of the following does not belong 73.

to the 'Sapta Sindhu or seven rivers

mentioned in Rigveda 7
(A) Rawi (B) Chenab

(C) Markanda (D) Jhelum

of Haryana derives its | 74.
Headquarters |
in the 14"

fter his son Fateh

name from the eponymous
town founded by
century who named it a

Khan.
(A) Ghiyasuddin Tughlaq

(B) Allauddin Khilji
(C) Firoz Shah Tughlag

(D) None of the above

\raditional Punjabi oral story-
South Asia with migrants

telling that came to
from the Arabian Peninsula
(B) Katak

(A) Rasalila
(D) Qissa

(C) Guagga
issue I1s an invitation to

the existing shareholders 10 subscribe for |
further shares to be issued by a company

(A) Primary (B) Secondary
\C) Rights (D) Bonus

76,

& -12-

75.

76.

15/2019 (17)

UF 7H 2 |

(A) BIZTIIY (B) F121 HH

(C), FI21 UeaH (D) FIZ =2
e foraen 1 2, fava famed e A
o U " |

(A§.1989 (B) 1906

(C) 1898 (D) 1888
U%__ﬁatﬁmwwmv?faav
% foru sprama 1 5 ared] T2

(A) 3T (8) =

(C) & (Q) HH

Frefafaa § 8 -8 5ae A 3feai@ad J
fay’ @1 @ At 3 7T 1A ¢
(A) T (B) =ATE

(C) HT*E] (D) FHeH

=FraToT 3 HARTETE forel @ A9 14 J G A
_ g HitE W@ T ATETdE geAred
TR ST & (SEe A9 39 A e @ &

(A) TTEATE (Bp FH
(C) ™M (D) e

AT ATl ST fofu Wiep@ W U 21
@iz S #1 uek fAmao 2 |

(A) T4 (B) ﬁ;Fﬁw

(C) TIg<H (D) #4#
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English Language

In the following question, choose the word opposite
In meaning to the given word.

83. AUSPICIOUS
(A) Spicy
(B) Unfavourable
(C) Conspicuous
(D) Condemnatory

87.

15/2019 (17)

88.
Use appropriate modals to fill in the blank.
pprop -
84. It rain. it Is so sultry. - :
(A) May (B) Can |
(C), Should (D) Would (C) \THE
Direction Q. No. 85 and 86 : In each of the (D)
following questions, 4 sentence is given with a
blank to be filled in with an appropriate word. Eour — " o 5
alternatives are suggested for each question. T e Eieni
Choose the correct alternative. A ﬁm],
85. My friend took his first pay to the bank to (B) JaFIHT Mg
it in his account. C) ) -
(A) deposit | | | l‘ P
P29 HIE
(B) deficit (D)
(C) debtt ‘
g B 0. ‘@WH' 3ITAIH & AGF &
86. The little girl ~for the light swilch ' (A) J919Tel
in the dark B) T S—
(A) groped
(B) grappled | (C) e HrE
(C) gripped | —
D) grovelled | el
R
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77. ___ discount is the deduction | 77, _ e aifwa sifam @ & sfiew s
from the invoice price grﬂanted to all those fare 'g'q'mnﬁm F 91 Tt F1 wer v e
who clear their bills within the desired d’ﬁﬁ?fﬁ P ﬂE‘Pﬂgél‘nFﬂ? |
dead-line. oot
(A) Cash (B) Quantity (A) T o 8
(C) Trade (D) All of these (C) =AM (D) 4

78. Botanical Survey of India (BSI) brings out @ HITd W;af«g ("1'_'-'.’3 T3 )%WWF“
an inventory of endangered plants in the 4 9 H JWdd1q a"n g1 7T 7, IHE
form of publication, it is titled as 9“'&?_' _ l Par—

(A) Red data book (B) Green data book (A) 2 ?21 EE? (B) ﬁﬁ;ﬁ}"
(C) Blue data book (D) Pink data book (C) =1 1 d+F (D) Z1 o
79. The processing function is divided between 79. wETET FHE F : I :
fafsra e =i 21|
the processor and o
(A) Memory (B) Disk (A) AOTH (B) == ._
(C) Optical Drive (D) 1O device (C) el 3184 (D) 110 fzarzs

80. s the first Indian wrestler to | 80. ___ fava e sferniarsn @ 21 92
win two medals at the World Wrestling EIGE! EHH'I%ET A TeddHE @ |
Championships. o (A) i e (B) meft ufe=
(A) Vinay Phogat (B) Sakshi Mallik _

(C) Bajrang Punia (D) Sushil Kumar | (C}m{ﬁm (D) Tfﬁ?ﬁ FHNI
81. profit as the excess of revenues |  81. T TSl 1 41§ SYad @
?:?rgxpenses‘ (B) Notional (A) 99 (B) =hT¢ IEE;
ross l | T
(C) Net (D) None of these (C), e (D) 399 | FTE 7
82. Four charges are arranged at the comners | 82. TH AECDEFEﬁUﬁ‘T{W TS =h] ST
of a square ABCD as shown in the figure. 1 At 2, s T 9= 9 2o w2 T
The force on the positive charge kept at the O W 1@ YATHS T T Fe 2
centre O is . .
"B, *7q B B '
E} .:.'-I. \
‘l:' > 0 49 qc
10 9
W : (A) T
ero . ...
(B) Along the diagonal AC (B) faami AC F wmy
(C) Along the diagonal BD (C) [BEN BD = Oy
(D) Perpendicular to side AB (D) 5T AB ¥ w4
-13- & %\% A
VRS
B Yot
\/

¢
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64. Match the old names given in List — | with
the new name of the tributaries of the river

Indus given in List = 1l.

List—1| List — |l
|. Shatadru 1. Beas
Il. Chandrabhaga 2. Sutlej
IIl. Vipasa 3. Jhelum
V. Vitasta 4. Chenab

T I (",
A) 3 1 4 2

D2 4 1 3 |

65. The Consumer Protection Act, 1986,
Section 6 of the Act, how many Rights of
consumers are recognized 7
(A) 6 (B) 7
(C) 8 (D) 9

66. The time gap between the placing of an
order and the actual arnval of the inventory
IS Known as _ _time.

(B) Lead
(D) Average

(A) Maximum
(C) Minimum

67. scales include the charactenstics
of the nominal scale plus an indication of
order.

(A) Interval (B) Ratio
(C) Ordinal (D) Nominal

If the letters of the word “SHUKLA" are
arranged alphabetically from left to nght
How many letters will remain at the same
position ?

(A) One (B) Two

(C) Three (D) None

69. demand is a common device

for describing the shape of the demand
function.

(A) Elasticity
(C) Forecasting

68.

(B) Non-elasticity
(D) Company

1512019 (17)

64. I — |7 f3u o R A g - 1\ fruae
fay 7 &1 mem At F Juam 3 gafes

s
T - | =t - |
| Tz 1. =TT
Il FE9 2. gdcTs
. fagmn 3. FH
I\, Teaan 4. Taam=
1 nmoWw
A) 3 1 4 2
B)2 4 3 1
Cc)2 3 1 4
2 4 1 3
65 IUHTFT T wfufaaw 1986 1 9T 6 H
A 3usTN % fara Afg=rl 1 7141 3
TR
(A), 6 B) 7
(C) 8 (D) S
66. UF W 24 3iR We gEl F Ardias €9 3
TR % =ie T EHE A _ =93
FEYH A ATA S |
(A) HfeTFan (B) =ad
(C) =JAaH (D), 34
67. I § ATHETE 99T & A&
ST U H F Hehd IH & |
(A) ST (B) 39T
(C) FH HE& (D) FTeaHF

68. a2 3TSfl & “SHUKLA" ¥1e2 & 37277 =)
a@mmmnmamﬁmmﬁ,

feha 18T 3R & T g @ 7
(A) U (B) =

(C) @1 (D) TS 7

69. _____ T, "I %o o - .

(A) ST (B) teiravfrern
(D) F9-1

11-
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50.

o1.

52.

S3.

33.

56.

57.

The Kantianism Ethical Theory developed by
(A) Immanuel Kant

(B) Aristotle

(C) Albert Z. Car

(D) Niccolo Machiavelli

fund is an entity which collects

money from different investors into a pool
and invests it in shares and bonds etc.

(A) Mutual
(C) Provident

(B) Pension
(D) All of these

The factors influencing corporate
governance are

(A) Accountability of Board of Directors
(B) Financial Disclosure and Controls
(C) Stock options

(D) All of these

A IS @ question you ask of a
database.

(A) Tuple (B) Record

(C) Query (D) Schema

Under one-way classification model of
variation, the variance between samples
Is 16.7 and vanance within samples is 13.
Therefore, the varnance ratio (F) is

(A) 1.285 (B) 1.385
(C) 1485 (D) 1.585

The earnings after tax is Rs, 1.30.000 and
the total number of shares are 32.000.
Hence, the earnings per share is

(A) Rs. 4.33 (B) Rs. 3.7

(C) Rs. 4.06 (D) Rs. 4.86

The price-partitioning of the market is
called

(A) Market expansion
(B) Market development
(C) Market strategy

(D) Market segmentation

In Haryana 'Piliya’ will be sung during
occasion of

(A) Birth (B) Marnage

(C) Death (D) Holi

51.

52.

S3.

o4,

29.

96.

57.

———— —— — e —— e —

15/2019 (17)

gfemon o “difern’ o STFE T A
SO |
(A) ST (B) oz
(C) T (D) FT<
Fizanz g4 fogm FHRREEILD
o |
(A) TS Fi2
(B) #TH
(C) ¥Fc=ie 8. F1
D REEIRIR:IERIEG]
2 uF grq1 2 51 fafy=a faeen
3 U T W gA T FAdl 2 30 38 9
aﬁmmuﬁamm?.l
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34.

1 Joule is equal to
(A) 1 kg m?s2
(C) 1kgms™@

(B). 1 kg? m?s2
(D) 1 kg m®s?

35. In one hour, a boat goes 11 km along the

stream and S km against the stream. The
speed of the boat in still water (in km/hr) is

(A) 3 (B) S5
(C) 8 (D) ©
In the transhipment problem the main goal is

to reduce the cost of shipments.

(A) Total (B) Prime
(C) Fixed (D) All of these

36.

37. is the first and youngest woman in
the world to climb Mt. Everest twice.

(A) Bachendri Pal (B) Santosh Yadav
(C) Premlata Agarwal (D) Arati Saha

38. consists in compelling actual

costs to conform to planned costs
(A) Cost control

(B) Cost reduction

(C) Uniform costing

(D) None of these

39. Haryana contains 2 National Parks. One of
them is Sultanpur National Park. The other

one IS
(A) Bhindawas National Park

(B) Kalesar National Park
(C) Nahar National Park
(D) Chhilchhila National Park

40. Sum of all odd numbers upto 100 1s

(A) 5050 (B) 2500
(C) 2525 (D) 5000

41. ‘Who has authored the book titled “Manohar
Parrikar — Brilliant Mind, Simple Life" ?

(A) Nitin Gokhale

(B) Rajnath Singh

(C) Shashi Tharoor
(D) None of the above
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(B), 1 kg’ m? s~
(D) 1 kg m?s*
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(D) 9
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22.

Kashish goes 30 meters North, then turns
right and walks 40 metres, then again turns
right and walks 20 metres, then again turns
rnght and walks 40 metres. How many
metres is he from his original position ?

(A) O (B) 10
(C) 20 (D) 30

23. programming deals with the

optimization (maximization or minimization)
of a function of variables known as objective
functions.

(A) Sensitivity

(B) Linear

(C) Simplex

(D) None of these

24, demand refers to existing

demand with its immediate reaction to price
changes, income fluctuation, etc.

(A) Long-run (B) Short-run
(C) Medium-run (D) None of these

25. Which of the following is not an award
presented by Haryana Sanskrit Academy ?

(A) Maharishi Valmiki Samman
(B) Mahakavi Baanbhatt Samman
(C) Maharishi Vedvyas Samman
(D) Mahakavi Kalidasa Samman

26. __accounting provides information
to management so that planning, organising,
directing and controlling of business

operations can be done in an orderly manner |

(A) Cost (B) Management
(C) Financial (D) All of these

27. A man has some hens and cows. If the
number of heads be 48 and the number of
feet equals 140, then the number of hens

will be
(A) 22 (B) 23
(C) 24 (D) 26
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